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1. AABCIZOWT, XOMWIZEZ L. 7272 L, BC=a, CA=b, AB=c T 5.
(S#145r50%, A#k34r, B4y, C#545)

(1) A=60°b=5 c=8DL X, (2) C=135°, a=2V3,b=3V6 DL ¥,
a ZRD K. cZRD L.

3) a=7,b=8c=3DELE, (4) a=1,b=V3, c=VTDLE,
A &R K. C %kd k.
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2. AABC I22WT, XOMWIZEZ k. 7271, BC=a, CA=b, AB=c T 3.
(S#2%, A3%, Bikasy, C#54)

(1) A=120°b=1¢c=3 DL X, (2) B=45° ¢c=3V2, a=4 Dkt E,
a%RKD k. b ERD k.

3) a=3,b=V21, c=4/3DELE, (4) a=+10, b=2V5, c=5V/2 DL ¥,
B %Xk k. C Zkd k.
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1. AABCIZOWT, XOMWIZEZ L. 7272 L, BC=a, CA=b, AB=c T 5.
(S#145r50%, A#k34r, B4y, C#545)

* RKEE (Aa, Bb, Cc DIEBRTHZ LD )

@® a? =0b%+4+c% —2bccosA

7, TheZRBLT,

b2 + ¢? — a?
A=——1 - =
® cos 2be

WIDRAZME) LEEDA X =Y
{ O ZMFEo 230 Z2olMofiibiiud, tho 130%Kd 5 2 L HHfHE.
@ ZMEO 3URbIIUL, 3ODAERD 5 2 L RARE.

(1) A=60° b=5 c=8DL X, (2) C=135°, a=2V3, b=3/6 DL &,

a ZRo K. czRD k.

TA A= 1 TA A= 1
* REEER LD, * REEE LD,
a? = b+ 2 — 2bccos A 2 =a®+b%—2abcosC
a?=52+8%—-2+5-8-cos60° c? = (2v/3)% + (3v6)? — 2+ 2¢/3- 3v/6° cos 135°
2=254+64—-2+5-8-2 2 _ _ (oL
« + ! 2 =124+ 54 36\/§< ﬁ)
a” =49 ¢? =102

a>0&0, a=7 &ZX

c>0%bh, e=+v102 EZ

(3) a=7,b=8 c=3DLE, 4) a=1,b=V3, c=VTDLE,
A ZRD k. CzRD k.
KA A=Y 2 KA RXR—=Y 2
* REKER LD, * REKEE LD,
cos A = b2+2€jc_“2 cos C = a2+2122b_02
2102 52 2 2_ 2
cos A = 8;%.; cosC:w
cosA =3 cos O — 1+\3;7
2V/3
0° < A < 180° A = 60° B X
<A< £, EZ cos C — — 3
0°<C<180° &bH, C=150° EBZ
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2. AABC I22WT, XOMWIZEZ k. 7271, BC=a, CA=b, AB=c T 3.
(S#2%, A3, Biasy, CHs55)

(1) A=120°b=1¢c=3 DL X, (2) B=45° ¢c=3V2, a=4 Dkt E,
azRD X, b K k.
WAA=Y1 WARA=Y1
* REEE LD, * REEER LD,
a? = b+ 2 — 2bccos A b2 = + a2 — 2cacosB
a?=12+3%2—-2+1-3-cos120° b2 = (3v/2)% +42 — 2+ 3y/2+ 4+ cos 45°
. —_ . e g oL
a?=14+9-6-(—3) b =18+16—2 3ﬁ4ﬁ
a’? =13 b2 =10

b>0&0, b=+v10 &Z
a>0%b, a=+v13 BZ

(3) a=3b=V21, c=4/3DEE, 4)  a=+10, b=2V5, c=5V/2 Dt X,
B ZXK&d k. (OR>IP
WA A= 2 TA A=Y 2
* RIKEE LD, * REEE LD,
cosB = % cosC = a2+2b;b702
cosB = 748;19\/%21 cosC = 710;?\0/;50
cosBz@ cosC:—%
0°<B<180° £H, B=30° &z 0°<C<180° &bh, C=135° -5
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